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B L2715 % % Core competencies of content learning

B-E-A3 e mghip ¥ 2 AR Eolg M IR RE g4
b o AfRARAEZ (S R BT EEREEN D VA FETRY o
HE-CL 2 © RN R o A EREE PR

Able to observe the relationship between daily life problems and mathematics,
and can try and draw up a plan to solve the problem. After solving the problem,
the mathematical solution can be converted into the application in daily life.

®E > B Y % 4 Core competencies of language (English) learning

FEAl £l LB R LB Y VI 0 EREY AAE Y R
o g itiEAEFE A A e
E-Al Possess favorable living habits, promote sound physical and mental
development, identify one’s aptitudes, and develop potential talents.

BEPeF R (BAER)D
ARt & R (HARR)
MOE Core Competencies

#-E-Bl 2 »Penfiy @~ BEF2 a4 o AslET o @y
g %@M PAGEEH R P VR o
E-B1 Possess the basic language competencies (i.e., listening, speaking,
reading, writing, and composition) and knowledge of using basic mathematical,
scientific, body, and art symbols necessary in everyday life. Be empathetic for
others during interpersonal
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¥ = p & Unit Objectives

1.E & a3 9 3

1. Preliminary understanding of weight
€ 2 KR

2. Direct comparison of weight

3. B i H b i

3. Comparison of individual units of weight
4.€ £ el ot i

4. Indirect comparison of weight

% I iz 7% Performance
Tasks

L dkited i e @7 SAREE R " B2 kv REER -
Understand that weight is not by visual measurement and weight cannot be
compared by sizes.

2417 AT RELREE -

Use a scale to compare weights accurately.

304 AT S BEES RREE DR RE R

Use weights and scales to compare the weight of individual weight units.
A1 2 L2 R E ORI E LR R

Use pictures and scales to do indirect weight comparisons

SIS S R EERCE E RN CE SN R T £ R A

AR R VR = A

RREAR I 2 B Y £ R

P B RAZ R T ik
MOE Curriculum
Guidelines

g #4552 ¥ 4 3 Performance of content learning
n-I-8HBFE~EE ~w o

n-1-8 Recognize the concepts of capacity, weight and area.

5 fiéﬁ B8 ¥ p % ! Learning Content

N2-2F & ~EE ~off - MPFEFEHLL c PIFETPIRER? 749
s B «‘f&”“ BT R (ZBRE )

Capacity, Volume and Area: Mainly through manipulative activities. The
instruction on quantity at this stage should include initial recognition, direct
comparison, and indirect comparison (including unconventional measuring
units). Different quantities should be treated in separate learning units.

£ % P # Learning
Objectives

EREY P
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#7 8Y p % (Language of Learning) Communication




1. Which is heavy? Which
2. Compare their weights.

P 1% F 3 Target vocabulary:
weight, sort, scale, item, one, two, three, compare, heavy/heavier/heaviest,
light/lighter/lightest ,The same weight.

P & 4] Target sentence patterns

is light?

3. Which one is heavier/lighter?

3. Which one is the heaviest/lightest?
4. Sort these three items by weights. From heavy to light.
5. They have the same weight.

*We can change items to cakes, chocolates, gifts, peanuts and balls, etc.

wERS

Classroom Language

e

Instructional Language

3IHES
Interactional Language

Chocolate, cake, gift, etd.

Thanks for your answer.

ST
# % & * Useof You are smart.

Language
Well done, good job,
fantastic, excellent! It’s
great!

Please raise your hand.

Which one is heavy/light?

Which one is
heavier/lighter?

Which one is
heaviest/lightest?

Sort these three items by
From heavy to

weights.
light.

Compare their weight.

They have the same weight.

Who
answer?

knows the

How do you know?
Why did you know?

Why? Why not?

% ¥ FiRGK A ) Learning
Materials
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FEER

7142 % 4% (Warm up)

T  EREML TR ER2 6 R €
oo AT S IR R TIR
GFE2 et AR LAEr SPLE)

r

T: 4 Fiof ok VBB L& 2 v L ?
Which one is heavy? Which one is light?
S: 4k FixE  F Ik

TR - 3T 4 fo- (2 L)L o MBI RE

% 2 Which one is heavier? Who knows the answer?
Raise your hand.

24 7
F 5




Sl:—- ey F 34
S2: This one.
T: Well done.

U AL SVETE o8 g

T. F FF
Which one is heavier?

BAP IR IS > IRB LR E e ?

SI: 4 p 3t fod o Fl 5 - HITA S fdE e T AY

S4B 0 AL R RE
S2: The cake.
T: Good job!

T: A 10 g i endd e ?

How do you know?
ST% 447
(FFF L ol = 8 4 4 )
T: (v endi ip LI Fa iy 7
S1:2% endg ip) A _$Fen

S2:Yes.
RS
S B BEAL G F AL GIT
>4 4 (%] 1)
—o® &
o zb SR
(R 3~ (size)inA g e KA K F 2 F
3%W%<€ﬁ$‘wﬁ TEEVFF P EEE
Nd e EERE Ao FEARE R E S RH e K
ALE ... EapAlantd > 3 B4 Rl wER)
T R B A B0 B T
L FL W i & o Which one is heav1er‘7
T: i& :—F BB o RE é DR L i e ?

Which one is heavier?
S1:+ i+ et i & /Big one.
S2:7% ¢ 7R i vt i € /purple; The purple one.
$3:7 - %o & £ £ wif
Gres? b ahF 2 555 3 4p0P £i2)
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S: % - T_

T: £k 43 BRAE By REFLENEE > RFRP
P93 %zma Frig f &g £ v ? What do you find?
NEEAR F°7» et AL HETE R Ao * f i e Hand

§°/Ww¢*W§ﬁiﬁ%éié

T: ARG e * P REETH S LR 0 IRA P T L ERA
St R 7

(Please compare their weight.)
S:* EE 1Bz £ £ 5 (R 2)

(R 2)

T: % £ JEdES H]45A B > B RE R 9
Which one is heavier?

(R4 417)

S: The (pmk/blue/black ...... ) one.

T: Good, thanks for your answers.

BigniegiiagltREE Ly tdbEEp

R L R )

S:izd B £k FEF 5 & SN yEE L FHUT
B o

T: &5 BAg s iﬁ\im},@; i
M v PehE v ?
(Compare their weight.)

S: A F S hpdkt pFiE > FIHIRE G E £ RT
T T e e R RGEA AEG R

L3 5€ 0 APT LR

(B 3)
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T3 {1 7 0 *eg?

(KEF£D XL > FEA BRI T Yoimig t)

T: 4cie & * X T ri ? How to use a scale?

T: Fmpz, x T3 ¢ )ﬂ"jﬂ]#fg vy 9

SABE ~AFIE

T:x T G ek d hpFiza f- hFeg?

S1: %t

S2: Yes.

T: B % T g BRA PR A JRdEp 0de (T5 B A
o S Qe A E R T e @ ¥ e 9

Sk v EHFEL > 5 Sicha fafedi

T: #-4 22 F) % T chd 2 é%—FF“ o B L B E v 9
Which one is heavier?

S1: v ™ g St RE

S2: (color); The (color) one.

S3: (4p IR E 7R )

T:drdk 2 T 73FT T, R E& B A ?

S: & B4 &— & &£ They have the same weight.

FEBE

T:5#3 BAES D] X T ot fuv PehE £
(Compare their weight.)

(JebF a5 4 3k %)

T: Who wants to do it? Raise your hand.

B ek BIIEZ Y SHRER RO &S T U R
Tt i fro g £ (B 4)(Compare their weight.)
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51 4= 4%

R AL EL BLEY NR A S

GEY 82 4% 5% 207 2 2 Rplp Rl ¢4 4

2|85 f e §)

(ReF iy e si 0 )

T B 5~5-1~52¢ 75 v
£ * ? Which item/one is heav1er?
Who knows the answer? Raise your hand.

= ‘ Q £, =l
= _ =
ER [55-1 85-2
Sl: pplzd itod ~  FitimdE ~ - e
S2: (color); (color one); The (color) one is heavier.
S3: (color); (color one); The (color) one is lighter.

S4: Same; The same; They have the same weight.
S5:(* "84 & xF’—“zﬁa‘g“ ~ e F,ﬁdr; - )

Bié g St
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E e PER-S BAE DX T A AT g
,fn e dg £ v ? (Compare their weight.)
(RFFE B2 £7557504 (B 6) > "LHIF L 73 4 -5 B
BTSSR RR )
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£ ¥ (Compare their weight.)

T:%ﬂ’—%ﬁ’kqﬁ V3 AP g'?/ﬂ 1l L Qe
FERIBES (RS (ERF 4k d 5) o £ 3

(® 8)

it § AL

T: Raise your hand, share your answer.

CEER A~

SI: 2% 1> Flafvd 3 ~ 5 )
S2: No.

T: B4 cng &¢I EA vy ? Why do you know?
SSERFIFREI P S FERR o FILFIET

EX SRS

I

*

HEF - ko T E LR fjﬁ}‘gfgﬁ o

e

K
HITIHAE L SR (W9
£ 5 A 9)

T: Which one is heavier? Why?
SI:AVE » Fl5 T &35
S2: Gift A.

S3: Gift A is heavier.

T: Yes, the gift A is heavier. You did a good job.
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31 4e B 4
(RFEP=Z BASF  FHFLEEXTVREE)
T W 2 B E 2

Here are 3 gifts, which one is the heaviest?

(F 2 # ¥ 2 T {ozd 4 () 10))

T: % & B-“rig 1 7? How do you know?
S:A#PEE » Fla AVBE A W CHE

T: 3% &= BARLY g4 ? Which one is the lightest?
(82 &7 % T {3 4 (B 11))

Who knows the answer, raise your hand.

11

S1: C A 4 i

S2: Gift C.

S3: Gift C is the lightest.

T: % & B-“rig 1 7? How do you know?

S: %7 C Adg > C+ - Bix

T:gpie= BALS HE £ d E Dlggt 7k -
Sort these three items by weights. From heavy to light.
SSAHBE £ KB iged C

T: Excellent, everyone.

5 E S
(REFHpcG @ 563 TR E Bl 2 (B 12) > 575 2
YRR S LS B e R A

T BALd g B £ FHER A K .
Sort these three items by weights. From heavy to light.

@70 g o
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SEB&E AfrCEE - & ° lLg#* ¢ 2w ¥
S2: Gift B is the heaviest. 2 mF Y FBE
T: How did you know? e 5
S:FI5 AP A - BRIF g AfrC- BRE S (pwd 2z

- BFRFT AeE By AE o BE R E o
T: Fantastic, you are smart!
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T i BALY e E £ £ BlER A0 K -

Sort these three items by weights. From heavy to light.

B 13

T ez B EERE ?
Which gift is the heaviest?
S:A Bt Lig®d 2wy 4
S2: Gift A. 2 EFTEERL | H
S3: Gift A is the heaviest. B g g 5
T: How do you know?
S:FZAPHE - BRF U AV BE  KE5E - B (@ ¢ 23 e AN A R

B ridoE B CF 0 #rit A g & eho R F]
T: B i de? > REDHAEMeE G X T RE D
B 5 ¥ UEER YRGB oE R %8 ? What did
you learn?
S: AP LS G P g e d B
T: Yes, you are right! Good job!

FOF UIE HF 2
TEHFFLATLALWKIH LB MR RAFLEF > FSOL R FNRT S

Fhob g e d N E A F L G MARS o RFOP S E SR AIA > KT RS 4o HA
e R oMA I RERLE RSP XERE ORI P XKER LRSS W F 2 aniivie
RoOBRFAZEFEFERT B RG OFLME c ARFEFLIDIRG Y O REFVRE L DR F
AR FRETEFOME DN EFAFENEF gt gk 0 FUt X 2 EREKE R
FIRFE L FrrEFY ENAL -
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